
5V

1.1V
DCDC(BUCK1)

5V =>1.1V
3A MAX

  DCDC(BUCK3)
  5V =>2.5V

  2A MAX

  DCDC(BUCK2)
  5V =>3.3V

  2A MAX

TPS65261-1

5.0VFilter

DCDC(BUCK1)
  5V =>3.3V

  3A MAX

DCDC(BUCK3)
未使用

  DCDC(BUCK2)
  5V =>1.8V

  2A MAX

TPS65261-2

1.8V

3.3V

1.5V

2.5V

TPS65261-1のPGOODをEN3
としてシーケンスを起動

TPS65261①

TPS65261②

PG

EN3

We want to set sequence.
1.1V→1.5V→2.5V→1.8V→3.3V

PG of TPS65261① connects to EN3 pin of 
TPS65261②.

Question 1.

Are there any problems with this 
configuration?

Question 2.

We do not use BUCK3 of TPS65261②.
Is BUCK3 pin floating or connected to GND?

Question 3.

If we have problems about this configuration,
Please tell us the suitable circuit.


